



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 5th Semester Section-A Session: Autumn 2025

Registration #	Name	ACT122					DMKT-415					ECO-334					FIN232					FIN-452					FIN-453				
		Financial Accounting					Digital Marketing Management					Business Economics					Introduction to Business Finance					Financial Risk Management					Financial Statment Analysis				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
AH/2/01274/M/BBUS/2020-1	Syed Fawad Ali Abbas	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-21/M/A/542	Kaleemullah Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/017	Muhammad Umair Saeed	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/022	Nisar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/030	Syed Murad Ali Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/077	Sajid Ali (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/B/078	Sakhawat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/A/0001	Abdul Fahad Khan	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0002	Abdul Qadeer	-	-	-	-	-	38	F	-	3	-	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0004	Abdur Rehman	-	-	-	-	-	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0008	Ameer Tashfeen	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	76	B+	3.5	3	10.5	60	C	2.0	3	6.0		
IS/BBA/A-23/M/A/0009	Amina Naeem	-	-	-	-	-	57	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0010	Arbaz Anwar	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	82	A	4.0	3	12.0	70	B	3.0	3	9.0		
IS/BBA/A-23/M/A/0011	Areeba Ishaque	-	-	-	-	-	55	C	2.0	3	6.0	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0012	Arslan Murtaza	-	-	-	-	-	29	F	-	3	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0013	Ayesha Noor	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	71	B	3.0	3	9.0		
IS/BBA/A-23/M/A/0014	Bilal Khan	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	57	C	2.0	3	6.0	63	C	2.0	3	6.0		
IS/BBA/A-23/M/A/0016	Farhan Ul Haq	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	57	C	2.0	3	6.0	52	D	1.5	3	4.5		
IS/BBA/A-23/M/A/0017	Fiba Shahbaz	-	-	-	-	-	65	C+	2.5	3	7.5	73	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0018	Hajira Bibi	-	-	-	-	-	-	-	-	-	-	F	-	3	-	-	-	-	-	F	-	3	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0020	Hamza Tahir	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0021	Haris Saleem	-	-	-	-	-	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0022	Hifza Faisal	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	76	B+	3.5	3	10.5		
IS/BBA/A-23/M/A/0023	Husnain Mansoor	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0024	Isma Benish	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	65	C+	2.5	3	7.5	80	A	4.0	3	12.0		
IS/BBA/A-23/M/A/0026	Khawar Ali	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0027	Khizar Mehmood	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0030	Malik Farhan	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0031	Muskan Khadim	-	-	-	-	-	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		HRM236					HRM-451					HRM-453					IRM-485					IT243					MGT353					
		Human Behavior / Introduction to Psychology					Training and Development					Performance Management					Introduction to International Development					Information System Analysis					Organizational Behavior					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
AH/2/01274/M/BBUS/2020-1	Syed Fawad Ali Abbas	-	-	-	-	50	D	1.5	3	4.5	71	B	3.0	3	9.0	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/A-21/M/A/542	Kaleemullah Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/017	Muhammad Umair Saeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/022	Nisar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/A/030	Syed Murad Ali Shah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/B/077	Sajid Ali (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-22/M/B/078	Sakhawat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/A-23/M/A/0001	Abdul Fahad Khan	-	-	-	-	55	C	2.0	3	6.0	76	B+	3.5	3	10.5	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-
IS/BBA/A-23/M/A/0002	Abdul Qadeer	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0004	Abdur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0008	Ameer Tashfeen	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0009	Amina Naeem	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0010	Arbaz Anwar	-	-	-	-	-	-	-	-	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0011	Areeba Ishaque	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0012	Arslan Murtaza	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0013	Ayesha Noor	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0014	Bilal Khan	-	-	-	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0016	Farhan Ul Haq	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0017	Fiba Shahbaz	-	-	-	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0018	Hajira Bibi	-	-	-	-	29	F	-	3	-	61	C	2.0	3	6.0	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0020	Hamza Tahir	-	-	-	-	24	F	-	3	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0021	Haris Saleem	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0022	Hifza Faisal	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0023	Husnain Mansoor	-	-	-	-	21	F	-	3	-	70	B	3.0	3	9.0	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0024	Isma Benish	-	-	-	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0026	Khawar Ali	-	-	-	-	19	F	-	3	-	51	D	1.5	3	4.5	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0027	Khizar Mehmood	-	-	-	-	19	F	-	3	-	66	C+	2.5	3	7.5	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0030	Malik Farhan	-	-	-	-	27	F	-	3	-	50	D	1.5	3	4.5	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-				
IS/BBA/A-23/M/A/0031	Muskan Khadim	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		MGT354					MGT-355					MGT-463					MGT471					MGT-471					MKT233				
		Business Research Methodology					Project Management					Small and Medium Enterprises Management					Strategic Management					Strategic Management					Principles of Marketing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
AH/2/01274/M/BBUS/2020-1	Syed Fawad Ali Abbas	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	24	F	-	3	-	-	-	-	-	-	
IS/BBA/A-21/M/A/542	Kaleemullah Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/017	Muhammad Umair Saeed	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/022	Nisar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/A/030	Syed Murad Ali Shah	22	F	-	3	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/077	Sajid Ali (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-22/M/B/078	Sakhawat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/A-23/M/A/0001	Abdul Fahad Khan	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-		
IS/BBA/A-23/M/A/0002	Abdul Qadeer	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-23/M/A/0004	Abdur Rehman	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	39	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0008	Ameer Tashfeen	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	31	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0009	Amina Naeem	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BBA/A-23/M/A/0010	Arbaz Anwar	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-		
IS/BBA/A-23/M/A/0011	Areeba Ishaque	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-23/M/A/0012	Arslan Murtaza	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	38	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0013	Ayesha Noor	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-23/M/A/0014	Bilal Khan	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-23/M/A/0016	Farhan Ul Haq	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-		
IS/BBA/A-23/M/A/0017	Fiba Shahbaz	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-		
IS/BBA/A-23/M/A/0018	Hajira Bibi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-			
IS/BBA/A-23/M/A/0020	Hamza Tahir	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BBA/A-23/M/A/0021	Haris Saleem	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	41	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0022	Hifza Faisal	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-		
IS/BBA/A-23/M/A/0023	Husnain Mansoor	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	36	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0024	Isma Benish	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BBA/A-23/M/A/0026	Khawar Ali	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	35	F	-	3	-	-	-	-	-		
IS/BBA/A-23/M/A/0027	Khizar Mehmood	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-		
IS/BBA/A-23/M/A/0030	Malik Farhan	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-		
IS/BBA/A-23/M/A/0031	Muskan Khadim	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		MKT-246					MKT-404					PM473					QNT124					QNT245				
		Marketing Management					Marketing Research and Analysis					Project Management					Business Statistics					Statistical Inference				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
AH/2/01274/M/BBUS/2020-1	Syed Fawad Ali Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-21/M/A/542	Kaleemullah Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
IS/BBA/A-22/M/A/017	Muhammad Umair Saeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/022	Nisar Ali	-	-	-	-	-	-	-	-	21	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/A/030	Syed Murad Ali Shah	-	-	-	-	-	-	-	-	18	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/B/077	Sajid Ali (Fee Defaulter)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-22/M/B/078	Sakhawat Ali	-	-	-	-	-	-	-	-	29	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0001	Abdul Fahad Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0002	Abdul Qadeer	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0004	Abdur Rehman	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0008	Ameer Tashfeen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0009	Amina Naeem	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0010	Arbaz Anwar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0011	Areeba Ishaque	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0012	Arslan Murtaza	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0013	Ayesha Noor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0014	Bilal Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0016	Farhan Ul Haq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0017	Fiba Shahbaz	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0018	Hajira Bibi	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0020	Hamza Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0021	Haris Saleem	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0022	Hifza Faisal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0023	Husnain Mansoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0024	Isma Benish	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0026	Khawar Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0027	Khizar Mehmood	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0030	Malik Farhan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/A-23/M/A/0031	Muskan Khadim	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 5th Semester Section-A Session: Autumn 2025

Registration #	Name	ACT122					DMKT-415					ECO-334					FIN232					FIN-452					FIN-453									
		Financial Accounting					Digital Marketing Management					Business Economics					Introduction to Business Finance					Financial Risk Management					Financial Statment Analysis									
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product					
IS/BBA/S-22/M/B/077	Tabish Bashir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/012	Khabab Nadeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/013	Kinza Tahir	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/016	Muhammad Ammar Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/019	Muhammad Nasir	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/023	Sadaf Naz	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	80	A	4.0	3	12.0	14	F	-	3	-	-	-	-	-	-	-	-	-
IS/BBA/S-23/M/025	Shahzad Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/033	Zoya Mazhar	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____ Checked By: _____ Rechecked By: _____
 Superintendent Asst. Controller of Exams Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		HRM236					HRM-451					HRM-453					IRM-485					IT243					MGT353				
		Human Behavior / Introduction to Psychology					Training and Development					Performance Management					Introduction to International Development					Information System Analysis					Organizational Behavior				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-22/M/B/077	Tabish Bashir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/012	Khabab Nadeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/013	Kinza Tahir	-	-	-	-	20	F	-	3	-	50	D	1.5	3	4.5	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/016	Muhammad Ammar Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/019	Muhammad Nasir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/023	Sadaf Naz	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/025	Shahzad Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/033	Zoya Mazhar	-	-	-	-	21	F	-	3	-	66	C+	2.5	3	7.5	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____ Checked By: _____ Rechecked By: _____
 Superintendent Asst. Controller of Exams Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		MGT354					MGT-355					MGT-463					MGT471					MGT-471					MKT233								
		Business Research Methodology					Project Management					Small and Medium Enterprises Management					Strategic Management					Strategic Management					Principles of Marketing								
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product				
IS/BBA/S-22/M/B/077	Tabish Bashir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0
IS/BBA/S-23/M/012	Khabab Nadeem	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/013	Kinza Tahir	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	46	F	-	3	-	-	-	-	-	-	-	-		
IS/BBA/S-23/M/016	Muhammad Ammar Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/019	Muhammad Nasir	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/023	Sadaf Naz	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	-	-		
IS/BBA/S-23/M/025	Shahzad Hussain	-	-	-	-	-	34	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BBA/S-23/M/033	Zoya Mazhar	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date:



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BBA (Honours) 5th Semester Section-A Session: Autumn 2025

		MKT-246					MKT-404					PM473					QNT124					QNT245				
		Marketing Management					Marketing Research and Analysis					Project Management					Business Statistics					Statistical Inference				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BBA/S-22/M/B/077	Tabish Bashir	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	50	D	1.5	3	4.5	
IS/BBA/S-23/M/012	Khabab Nadeem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	58	C	2.0	3	6.0	
IS/BBA/S-23/M/013	Kinza Tahir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/016	Muhammad Ammar Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	
IS/BBA/S-23/M/019	Muhammad Nasir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/023	Sadaf Naz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BBA/S-23/M/025	Shahzad Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
IS/BBA/S-23/M/033	Zoya Mazhar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: